24. The lengths of the corresponding sides of 2 similar
right triangles are in the ratio of 2:5. If the hypotenuse
of the smaller triangle is 5 inches long, how many
inches long is the hypotenuse of the larger triangle?

F. 2
G. 25
H. 7
J. 10

K. 125



16. In the figure below, AD is perpendicular to BD, AC is
perpendicular to BC, and AD = BC. Which of the fol-
lowing congruences is NOT necessarily true?

AC = BD D C
AD = AE E
AE = BE
£ZDAB = ZCBA
ZFEAB = ZEBA

-



27. In right triangle AACE below, BD is parallel to AE,
and BD is perpendicular to EC at D. The length of AC
is 20 feet, the length of BD is 3 feet, and the length of
CD is 4 feet. What is the length, in feet, of AE ?

A

A. 10 ?
B. 12
C. 15
D. 16
E. 17 E



44. For the triangles in the figure below, which of the fol-
lowing ratios of side lengths is equivalent to the ratio
of the perimeter of AABC to the perimeter of ADAB ?

D
30°

C
F. AB:AD 60°
G. AB:BD E
H. AD:BD
J. BC:AD
K. BC:BD A B
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32. Television screen sizes are the diagonal length of the
rectangular screen. Hector recently changed from
watching a television with a 13-inch screen to a televi-
sion with a similar 19-inch screen. If a boxcar
appeared 8 inches long on the 13-inch screen, how
long, to the nearest inch, will it appear on the 19-inch
screen?

10
12
14
16
18

e O



25. In the figure below, where AABC ~ AKLM, lengths
given are in centimeters. What is the perimeter, in
centimeters, of AABC ?

(Note: The symbol ~ means “is similar to.”)

B A L 12.5 K
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6. How many triangles that have integer side lengths are
similar to the triangle shown below?
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" 6. The shadows of a fence post and a nearby flagpole Slm / / ar 7 W / ALY

(both vertical and on level ground) were measured at

the same time.-The fence post’s shadow was 3 ft ,p//‘ 2 74 e é
long, and the flagpole’s shadow was 10 ft long. If the WW @ f/ ﬂj I 47). é /p s

‘ fﬁ:(ﬁaggglte‘i?s 6 ft tall, about h;w many feet tall is 74; _getL M SOZQ f/‘ :
E: 5 = Can V2%
G B D ,j . ~ Set up ===
2

I 2 , fro portion
B3 Fence A f/ogﬁo/& Y= 0% b=23= L0




